
Kf;fpa Fwpg;Gfs; 

kpd;Rw;W 
kpd;Ndhl;lj;ij jd; topNa nry;y mDkjpf;Fk; gy kpd;$Wfspd; 
tiyaikg;G nfhz;L cUthf;fg;gl;l xU %ba Rw;W my;yJ ghijahFk;. 

kpd;dOj;jk; 
XuyF Neu;kpd;D}l;lj;ij Kbtpy;yh njhiytpy; ,Ue;J kpd;tpirf;F 
vjpuhf mg;Gs;spf;F nfhz;Ltu nra;ag;gLk; Ntiy MFk;. 

ntg;g tpisT 
kpd;fk;gpapd; topNa kpd;Ndhl;lk; nry;tjhy; ntg;gk; cUthfpwJ. ,e;j 
epfo;T kpd;Ndhl;lj;jpd; ntg;g tpisT vdg;gLfpwJ. 

[Py; tpjp 

xU kpd;jilapy; cUthFk; ntg;gkhdJ> 
 mjd; topNa ghAk; kpd;Ndhl;lj;jpd; ,Ukbf;F  Neu;tpfpjj;jpYk; 
 kpd; jilf;Fk; Neu; tpfpjj;jpYk; 
 kpd;Ndhl;lk; ghAk; fhyj;jpw;F Neu;tpfpjj;jpYk; ,Uf;Fk;. 

Kf;fpa myFfspd; tiuaiwfs; 

xU Mk;gpau; (A) 

1 Mk;gpau;= 
1 $Yk;

1 tpehb
 

xU $Yk; kpd;D}l;lk; xU tpehb Neuj;jpy; flj;jpapd; VjhtJ xU 
FWf;Fntl;Lg; gFjp topahf fle;J nry;Yk;NghJ mf;flj;jpapy; ghAk; 
kpd;Ndhl;lk; xU Mk;gpau; MFk;. 

xU Nthy;l; (V) 

1 Nthy;l;= 
1 [Py;

1 $Yk;
 

xU $Yk; Neu;kpd;Ndhl;lj;ij xU Gs;spapypUe;J kw;nwhU Gs;spf;F 
kpd;tpirf;F vjpuhf vLj;Jr;nry;y nra;ag;gLk; Ntiyapd; msT xU 
[Py; vdpy; mg;Gs;spfSf;fpilNa cs;s kpd;dOj;j NtWghL xU 
Nthy;l; MFk;. 

xU Xk; (Ω) 

1 Xk; = 
1 Nthy;l;;

1 Mk;gpau;
 

xU flj;jpapd; KidfSf;fpilNa cs;s kpd;dOj;j NtWghL xU 
Nthy;l;lhf ,Uf;Fk; NghJ flj;jpapy; nry;Yk; kpd;Ndhl;lk; xU 
Mk;gpau; vdpy; mjd; kpd;jil xU Xk; MFk;. 

xU thl;; (W) = 
 1 Nthy;l;×1 Mk;gpau; ;  

xU Nthy;l; kpd;dOj;j NtWghl;by;> xU Mk;gpau; kpd;Ndhl;lj;jpy; 
nray;gLk; kpd;fUtp gad;gLj;jpf; nfhs;Sk; kpd;jpwd; xU thl; MFk;. 

1 fpNyhthl; kzp  
(kWh) 

xU fpNyhthl; kzp vd;gJ xU A+dpl; kpd;dhw;wy; MFk;. 1000 thl; 
kpd;rhuk; xU kzp Neuj;jpw;F gad;gLj;jg;gLjy; 1 fpNyhthl; kzp. 

Fjpiu jpwd; 
Fjpiu jpwd; vd;gJ fps (foot-pound-second) myF Kiw my;yJ 
Mq;fpNya myF Kiwapy; kpd;jpwid mstpLtjw;F gad;gLfpwJ. 1 
Fjpiu jpwd; vd;gJ 746 thl; MFk;. 

 

 

 kpd;Ndhl;lk; , I  =  
Q

T
  kpd;jil vz;, ρ =  

RA

L
 

 kpd;dOj;j NtWghL (V),   =   
nra;ag;gl;l Ntiy (W)

kpd;D}l;lk; (Q)
 

 Xk; tpjp,  V= IR  (my;yJ) I =  
V

R 
  (my;yJ) R =  

V

I
 

 kpd;flj;J jpwd;,  G =  
1

R
   ;         kpd;flj;J vz;,  σ =  

1

ρ
 

 kpd;jilahf;fpfs; njhlu; ,izg;G,  Rs = R1 + R2 + R3 +…..(rk kjpg;Gila kpd;jilf;F> Rs =  n R) 

 kpd;jilahf;fpfs; gf;f ,izg;G,   
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 [_y; ntg;g tpjp,      H = I2 R t         kpd;jpwd;, P =  
Ntiy 

Neuk;
=  VI =  

V2

R
   

 kpd;dhw;wy;, E = P × t  


